
����� 5
����	
��
��	���
��	��
��

��������� T2* 	��
���
��
��� ��������������
�	�� ������������ T2* ���� �����
�����!�
����"#��������
�����$���%��  [7-19, 40] ����
�" ��������!�������!&'!
�� 	(�
	����)�$ 
�#��*		��&��
�	��
�" ��!������#����#��
������������ T2* ���+(�,���-	(��� &��������
��� T2* 
���$ �
���&������.���"#��"#���/��0���������0$���% ����� �����!�$
�������0�1�
�12
�������
��
��
����
 ��
 ���$��	�
0������������
3
� ����.���"#��"#��� ���!'� phase

different ���$��	�
0������������
0�
�� .#���� $��	�
0 ���������44�2
��$�

��44�2�0��� ����
�����!�����0�����#����.�#�3
�����.���"#��"#��&��������'���0��� T2* &��
�����  �� 5#����!�����"�����.������.00�
�&�� (Two-way ANOVA) �0��� ����
��������
 3
� ����.���"#��"#�� .#�������������
0�
�� �� 5#$�
��� T2* .$�$������
������
��������4&����!$!&������0��������
���� 95 ��
���6��$� (P = 0.000)  6(���
��# 
���0�����&�� (3)

��
 ��� T2* ��)�5#���3
� ���5�
��#��.��3���.00��7� ��7� (T2) .#����������������
 
3
�����.���"#�� &������
0��� ���
�������
 ���������������
&�� ��!� 	��
������$�1 (T2 MS)

.#����������������
 	������.���"#��
���
���$�1 (T2 M) [11, 20, 30-32]

	�����+(�,��0��� &�����������������
3
�����.���"#��"#�������� 0.37 ppm �(� 
0.90 ppm .#����� 1.00 ppm �(� 1.30 ppm ���"��0��� T2* ������ 10.2 �(� 50.7 �!##!�!��&� ��
����.$�$������
��������������4&����!$!&������0��������
���� 95 ��
���6��$� (P = 0.100) 6(��
.����" �"����� � �����.���"#��"#���/��0���	��
���
�$������� 0.90 ppm ��.���� ���������
5#���&0$�
��� T2* ������ 10.2 �(� 50.7 �!##!�!��&� .#��� 5#��������!�������������
0�

�� �0��� ������ 55.31 ��
���6��$� �(� 89.05 ��
���6��$� .#����� 96.42 ��
���6��$� �(� 97.40 
��
���6��$� ���"��0��� T2* ������ 10.2 �(� 50.7 �!##!�!��&� ������.$�$������
��������������4
&����!$!&������0��������
���� 95 ��
���6��$� (P = 0.100) 6(��.����" �"����� � ���
���6��$�����
��������
0�
���� ��� �/����� 89.05 ��
���6��$� ��.���� ���������5#���&0$�
��� T2* ������ 
10.2 �(� 50.7 �!##!�!��&�

�����#����.�#�3
���� T2* 
���$ �
���&������.���"#��"#�� �/��0���	���*		��

���
� $�-�.$���� 0.37 ppm �(� 1.30 ppm .#�
���$ �
���&��������������
0�
�� �����$�-�.$�  
55.31 ��
���6��$� �(� 97.40 ��
���6��$� ���5#$�
�����#����.�#�3
���� T2* ��.$�#�����$������ 
	���/�&�� 7 .#��/�&�� 8 �0��� ����
�����3 �3 �3
��8
���!��


� (Fe3+) �/�3(-��(�����0 1.0 �(� 
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2.0 �!##!����$�
����3
��-��"�����9�� 5#	������0�������.���"#��"#�� .#�5#	����� 
��#����.�#�3
������
���6��$����������������
0�
�� &����$�
��� T2* ��.���� �#�#� ����&��
�����3 �3 ��8
���!��


� (Fe3+) 0.2 �!##!����$�
����3
��-��"�����9�� �������
���6��$�
�������!&'!:����.������3
���� T2* �;#��� �&����0 4.85 ��32�&�������3 �3 ��8
���!��


�
(Fe3+) 2.0 �!##!����$�
����3
��-��"�����9�� �������
���6��$��������!&'!:����.������3
����  
T2* �;#��� �&����0 0.62 	��$����&�� 11 ������
��� T2* �;#���&������� 	�������3 �3 ���������.$�$���

���������.$�$������� 
�#� ����
�����3 �3 ��8
���!��


� (Fe3+) ��!��3(-� &�-���-
�	
����
���	��5#3
����������������
3
��8
���!��


� (Fe3+) 
����"1��	��#
��	# 
(microscopic) &������0�����3 �3 � 1.0 �(� 2.0 �!##!����$�
����3
��-��"��� ��9�� ���5#���&0
$�
�����#����.�#�3
���� T2* ����������������������
	��
���
�"1��	��#
� �	# 
(macroscopic)    

�����������
���6��$�������������
0�
�� (PIU) ���#<
$���8��0������������������
 
3
�����.���"#��"#�� (ppm) ����
���&�-��
�&��$��."������������� 	�����$��	�
0&��
���
�������� ���.������/�&�� 10 �0��� ���&�-��
���.���� ������#����.�#�&���
��# 
������
 ����
��������
 0�
���
��
���	���� (PIU �/�) ����
����.���"#��"#����������������
��� (ppm 

$���) .#�������������
0�
��	�#�#���32�&������.���"#��"#����������������
#�#�
�������   .#���� ��
���6��$�������������
0�
�� (PIU) �&����0 89.05 ��
���6��$� ��0����������
��������
3
� ����.���"#��"#�� (ppm) �&����0 0.90 ���	������������������.���#1����� 
T2* ��   

���"��0�����!�$
�����$��	�
0���������44�2
��$�
��44�2�0��� �� 5#���
�!�����"��������.������.00�
�&�� (Two-way ANOVA) �0������ T2* &���� 	��������0
��44�2&�� 7 ������������44�2
��$�
��44�2�0��� (SNR) ���.$�$������
��������������4
&����!$!&������0��������
���� 95 ��
���6��$� (P = 0.656) 6(��3��.� ���0���+(�,���
�"� ���- [2, 5, 

6, 8, 20] 5/ �!	������
�����)�5#��	�����$�-�����"��3
���#��������.��"1��	��#
��-�� $�� 
3�-�$
���� $��	�
0&�� 10 �!##!��$� [2, 5, 6] 6(��"�������!��� &���" �����#����.�#���� 
NSA &�� 1 �(� 7 �����5#$�
�����#����.�#�3
���� SNR 0�
���
��
��� �����0��0���+(�,�&��
5�����&����������� T2* 0�
���
��
��� 	�$�-�����"��3
���#��
�/�&�� 1 �(� 5 �!##!��$� 	(�
�������"��5#�����#����.�#�3
���� SNR 0�
���
��
��� [8]

��1�5#���+(�,�  �����+(�,���-�����! �$
�����$��	�
0�������� � ���
3
� 
����.���"#�� "#�� .#������!�$
�����$��	�
0������������
0�
�� ���	���������)�����  
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����
�������  $��	�
0�����#����#��
�3
���������� T2* 0�
���
��
��� ����
����.���"#��
"#���/��0���	���*		��
���
� .#��0���� �����.���"#��"#���/��0���	���*		��
���
�
� 
����� 0.90 ppm "��
 � �
���
��
����������
���6��$�������������
0�
�� (PIU) �/����� 
89.05 ��
���6��$� ��.���� ����	������5#���&0$�
��� T2* &������� .#�&������0�����3 �3 �3
�
�8
���!��


� (Fe3+) 
����"1��	��#
��	# ������ 1.0 �(� 2.0 �!##!����$�
����3
��-��"�����9�� 
"��
��� T2* &���/����� 20 �!##!�!��&� ��.���� �&��5#���&0$�
�����#����.�#�3
���������� T2*

����
�	������0�������	��
���
���5##�#� ���"��0��������� T2* ���� 10.2 �(� 50.7 

�!##!�!��&�

�������������	�����

3 
	����������+(�,���- ��������� T2* 0�
���
��
��� .#������0�1��12
�������
��
��

����
� �������!�$
��&�-���� ��)����������$���%0�
���
��
���
����0�!��2&�����	 (ROI) &��
���������$��."���&�����	0�
���
��
���&1����-� 6(��
�	&���" ��!�����#����#��
�3
�$��."���
&�����		��������$��."���.$�#����-� .#������+(�,���-�0��������!�$
�����$��	�
0

�$��������44�2
��$�
��44�2�0��� �����5#$�
��� T2* ����
�	������� ����"��3
���#��
&�������!���   

��	����������!"

��=��.#�

�.00���.��� ���"��0������0�!��2&�����	.00��01$��."����!��6#0�

�� �� �����������$���%0�
���
��
��� ����
�����/�$ 
�.������.#�#������#����#��
�&����!�
	��������0�!��2&�����	 &�����+(�,������!�$
��
�$��������44�2
��$�
��44�2�0������
���#�����"��3
���#�� .#�+(�,������!�$
��
���%3
������0�1��12
�������
��
��
����
 &��
��������)����� ���
�	������3 
���0�����!������#����#��
������������ T2*

 
���#����������	���$��%�

���"��0��������� T2* 	��
���
��
��� � ������� ��
��	�������
��
��
����
 1.5 �&�#� 
��������$��	�
0������������
3
�����.���"#�� ��������������������������
3
�   
����.���"#��"#��$������� 0.90 ppm .#���������$��	�
0������������
0�
�� ����������� 
��
���6��$�������������
0�
��������� 89.05 ��
���6��$�  


